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Question Paper Booklet No. 40 1 6 4 8 1

GENERALINSTRUCTIONS TO CANDIDATES

The question paper comprises two parts, Part I and Part II.

Part I comprises Multiple Choli]ce 1fzuestgonz1 (MC_%S)- o s
Part II comprises questions which require escriptive type answers. . .
Ensure thatgrou re%eive the question paper relating to both the parts. If you have not received both, bring it to the
notice of the invigilator. . ipti
Answers to Questgions of Part I are to be marked on the OMR answer sheet given on the cover page of gemﬁle\;g
answer book only. Answers to uestioqs inPart IT are to be written on the descqpuve type answer book. s
to MCQs, if written inside the descriptive type answer book or on Part-1 Question Paper, will not be eva clll%et ‘
OMR answer sheet given on the cover page of descriptive answer book will be in English only for all candidates,
including for Hindi medium candidates.

The bar coded sticker provided in the attendance register, is to be affixed only on the descriptive type answer
book.,

You will be allowed to leave the examination hall only after the conclusion of the exam. If you have completed the
paper before time, remain in your seat till the conclusion of the exam.

Duration of the examination is 3 hours. You will be required to submit the descriptive answer book with OMR
cover page to the invigilator before leaving the exam hall, after the conclusion of the exam.

The invigilator will give you acknowledgement on Page 2 of the admit card, upon receipt of the above-mentioned items.
Candidate found copying or receiving or giving any help or defying instructions of the invigilators or having/ using
mobile phone or smart watch will be expelled from the examination and will also be liable for further punitive action.
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Answer all questions. . :
Use HB pencil only to darken the circles for answers in the answer sheet,

After each question four alternativp answers are given. Choose one of the answers and darken the appropriate
circle against the question number in the OMR Answer Sheet, completely, as shown below, with HB pencil.
Marking the Answers

Example : Not as shown below
For Question No. 12, ifthe candidate (Wrong method) :

considers the correct answer to be 12
C, hefis to mark as shown below ® @ ©

(Correet Method) @ (5@ 1D

ZA®O O
2E 6 @ O BRIPLGEOIOND

marks will be awarded.

If a candidate wants to change the answer already darkened,
eraser and ensure that no mark is visible after erasing,

No mark will be awarded if no circle is darkened or more than one circle is darkened for a particular question.
ere is no negative marking for a wrong answer,

Rough work, if any, must be done on the pages, specified as SPACE FOR ROUGH WORK only and nowhere else
in the question paper booklet or in the answer sheet.

efore commencement of the exam, please fill up the necessary information in the Space provided below and also

he should erase it completely, with good quality

in the answer sheet,

Total No. of Printed Pages : 12

Maximum Marks : 30
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PART -1

Case Scenario -1 :

Mr. Vikram took a loan of ¥ 6,00,000 carrying interest @ 10% p.a. on 1% August,
2023 to purchase raw material. He purchased 4000 units of raw material @ T 125
per unit. Replacement cost of raw matenal as on 31 March, 2024 is T 100 per unit.

Labour charges and variable overheads incurred are T 1, OO 000 to produce 1000
units of finished goods. )

1000 units of Finished goods are produced with raw material (for every unit of
finished goods produced, 2 units of raw material are required). Net realizable value
of finished good is ¥ 300 per unit. All the finished goods produced are lying in
stock as on 315 March, 2024.
There is no opening stock of raw material and finished goods.
Mr. Vikram used 1500 units of raw.material to construct an Asset (Qualifying
\Asset). Labour and other overhead Charges incurred on construction of asset are
¥ 90,000. Mr. Vikram also paid ¥ 15,000 to install the asset at Factory premises.

Mr. Vikram used Balance of loan proceeds of ¥ 1,00,000 to invest in Equity Shares
of P. Ltd. He purchased 9,000 Equitys shares (Face Value ¥ 10 each) for ¥ 1,00,000
fon 25% March, 2024.

'The P. Ltd declared and paid dividend @ 20 % on 30" March for previous year
2023-24.

Based on the information given in aboye Case Scenario, answer the following
Question No. 1 -4 :

1. What would be the value of clés_jng stock of Raw Material X and Finished
Goods as on 31 March 2024 ? <
(A) Closing Stock of Raw Material X ¥ 50,000 and closing stock of Finished
Goods  3,50,000 ~
(B) Closing Stock of Raw Matenal X T 50,000 and closing stock of Finished
Goods ¥ 3,00,000
(C) Closing Stock of Raw Material X ¥ 62,500 and closing stock of Finished
Goods ¥ 3,50,000
Closing Stock of Raw Material X ¥ 62,500 and closing stock of Finished
Goods T 3,00,000
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Cost of Self Constructed Asset as per AS 10 will be ?
(A)%2,92,500
B) T2,77,500
(C) 3,05,0005
(D) 2,90,000

ti;j;if‘?ﬂ
[2¥ ! '9

As per AS 16 what will be the amount of interest to be capitalized and amount
of interest to be charged to Profit & Loss A/c ?

(A) T 12,500 interest to be capitalised and ¥ 27,500 interest to be charged to
Profit & Loss A/c.

By T12,500 interest to be capitalised and ¥ 20,833 interest to be charged to
Profit & s Alc. |

(C) R 19,167 E1i”&v;erest to be capitalised and T 20,833 interest to be charged to
Profit & Loss Alc.

(D) Whole of ;?3210’000 interest to be charged to Profit & Loss A/c.

What isgthegeamying amount of investment as on 31t March, 2024 as per
AS 13 and suggest the.tréatment of dividend teegiyed from P. Ltd. ?

(A) Carrying.amount,of Inyvestment as on, 312 March, 2024 is ¥ 72,000 and

the d1v1dend 1s deducted from the nominal value of investment.

(B) Carrying ;@gmunt of Investment as on 31% March, 2024 is ¥ 90,000 and
the d1v1dqp5 is credited to Profit & Loss A/c.

(CY" Carrying ‘Sthount of Investment as on 31% March, 2024 is ¥ 1,00,000 and
the dividend is credited to Profit & Loss A/c.

(D) Carrying amount of Investment as on 31 March, 2024 is ¥ 82,000 and

the dividend is deducted from the cost of investment.
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Case Scenario —2 : REJL

Kay Ltd. sold goods of
o irobst o th e 2?2,00,000 to Mr. Ravi Kumar on 1% Feburary, 2024 but at
» HESe goods were delivered on 10™ April 2024.

Kay Ltd. also sold ¥ '
€ hoetal B o s Tﬁ;OO,O(?O goods on a}gi{roval basis on 1% January, 2024 to
period of approval'is 3 months after which they were

considered sold. B : .
uyer sent disapproval for 25% of goods and approval for 50% of

goods till 31% March, 2024, i

1;/:; dI:at\: ;;za;alzs commenced legal action against Kay Ltd. for supply of faulty

ages. The lawyers of Kay Ltd. have advised that it is not remote
?’et that ek be required to settle the claim. Legal cost to be incurred
irrespective of the outcome of the case is T 45,000. Settlement amount if the claim
is required to be paid X 5,00,000. )0, Y2

Sheetal Enterprises, a trade receivable of KayiLtd suffered a heavy loss due to an
earthquake that occurred on 30® March, 22% The loss was not covered by any

“
i

insurance policy. In April, 2024, Sheetal Entefprises became bankrupt. The Balance
due from Sheetal Enterprises as on 31 March§d2024 is ¥ 75,000.

Kay Ltd. makes provision for doubtful debts @ 5%.

ation |given in above Cas€ Qrerario, answer the following

Based on the inform
Question No. 5 — 7

5 What is the amount 0 be recognized égﬁBevenue as per AS 9 in the books of

Kay Ltd. as on 3 {5t March, 2024 ?

(A% 23,50,000
(B) %1,50,000

(C) 23,00,000

(D) % 1,00,000
RPJ1
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i ion commenc
What will be the treatment of legal cost and claim for legal acti ed

t h, 2024 as
by Mr. Ravi Kumar in the Books of Kay Ltd. as on 31 Marc per
AS 299

s e
14

ity
(A) Create o Provision for ¥ 5,45,000 y

|s|[.,’r:§"f-,
LN
(B) Create a Provision for ¥ 5,00,000 . 4

p‘ 1::

'M I

)/Create a Provision for Z 45,000 and make a disclosure of contingent
llability of ¥ 5,00,000

(D) Make a disclosure of contingent liability of ¥ 5,45,000

sy
What is the treatment of msolvency of Sheetal Entex*}?iﬁses in the Books of Kay

Ltd. as on 31t March, 2024 as per AS 4 9reiis R

ek

)/An Adjusting Event, full provision of ¥ 75,008 should be made i in the

Final Accounts for the year'ended34s! Mareh; 2024,

(B) An Adjusting Evert? BHovidion’ 5f €73 150 should be made in the Final

Accounts for the year ended 31% March, 2024. l\\ '%3
L r

: L% ) ‘! TE\
(C) A Non-adjusting event, no provision is requmed to be made as Sheetal

R Sea Kok
Enterprises became bankrupt in April, 2024,

(D) A Non- adjusting event, only disclosure is required in the Final Accounts

for the year ended 31% March, 2024,
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P Ltd. has 60% voting right in Q Ltd. Q Ltd. has 20% voting right in R Ltd.
Also, P Ltd. directly enjoys votmg right of 14% in R Ltd. R Ltd. is a Listed
Company and regularly supplies goods to P Ltd. The Management of R Ltd.
‘has not disclosed its relationship with P Ltd. While preparing Financial

Statements of P Ltd., wh1ch entities would you disclose as related parties with
reference to AS-187? m‘“} /

: 7 w!w

(4) QL. @
wAo(B) RLd, *f"’““'
' <

(©~QLtd. and R Ltd.
(D) Neither of Q Ltd. or R Ltd.

A Machinery was given n,0n 3 years lease by a dealer of the machinery for
equal annual lease rent@o yield 20% profit margin on cost of the machinery,
which is ¥ 3,00,000. Ec@omlc life of the machmery 18 5 years, and estimated

output from the machmé’fi‘f in 5 years is as follows :

vear1 50D Year IL. P, A00.units
YearIII 40,000 units , YeardV..65.000 units
Year V85,000 units. |

Compute Annual Lease Rent.

a@m‘a
(A) %30,000 o |
- (B} % 60,000 %
©) 50,000 &3
m@ﬁux
D) 36,000
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mmon stock outstanding 0N 1t April, 2023.
t November, 2023 and 32,000 shares
late the weighted average

10. A Ltd. had 1,50,000 shares of co
Additional 50,000 shares were jssued on 1°
were bought back on 1% February, 2024. Calcu

: s 024 1s :
number of shares outstanding at the year ended on 315t March, 2 5 20 2
GO OO0 DT
(A) 1,34,500 shares . | SV | 1 a0
(B) 1,65,500 shares o @t \
,65, o > | W
(C) 1,76,167 shares s 50 2 59
(D) 1,23,833 shares L a3 L s
; Qo()\o RTe R
' ‘ 05 O\

Case Scenario—3:

Jay Ltd. submits the following data extracted from the Final Accounts as on

31t March, 2023 :

4

Equity Share Capital 5,00,000
50,000 Equity shares of ¥ 10 each b

Profit & Loss (Dr. balance) (50,000)
9% Debentures 2,00,000
Loan from Bank | 3,00,000
Advance. given to suppliers of goods 45,000
Provision for tax 14,000
Plant & Machinery 4,50,000
Furniture & Fixtures " 85,000
Investment in Star Ltd. 1,25,000
10,000 equity shares of ¥ 10 each i

Sundry Debtors : 70,000
Cash & Bank Balance 65,500

i RPJ1
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Additional information given by Jay Ltd

On 31% March, 2023 Jay Ltd. decided to reconstruct the company for which
g

necessary resolution was passed. Accordingly it was decided that :

(a). 9% Debentures to be settled in full by i 1ssu1ng them 15,000 Equity shares of
T 10 each.

(b) Equity shareholders will give up 40%

(¢) Balance of Profit & Loss to be wri’gten' off.
@, Equity shares issued for ¥ 1,00,000

100,0UU
In addition to above, following information was also presented by Jay Ltd. on
1%t April, 2023 : :

(a) Interest is received on advances given to supphers of goods % 3,000.
(b) Taxation liability is settled at ¥ 14,000.

(c) A debtor of ¥ 40,000 is insolvent, only 40

F=y

‘3‘.-.—; 2

estate.

P

0j ¢ f h1s dues are recovered from his

}ﬁ)/ Dividend is received on Investment in Star Ltd T 1 per equity share invested
L - '

e) Part of Plant and Machinery.is soldat a logs gy 3 000" (book value T 15,000)
‘ AN

<0 00N
: ) SOV V-
Question No. 11 - 14 :

01y QAN
Based on the information given in above Case___‘ Scenario, answer the following o ¢y, 000

3900w
11. The amount of Cash Flow from operating a??}flty 15 SO :
(A) 2,000 : LIS
(B) 5,000
jg)» 12,000

(D) T15,000
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12. The amount of Cash Flow from investing Activity is : 2
(A) 28,000
(B) 25,000

(C) % 15,000

(D)3 22,000

13.  What is the amount of closing Cash and Cash equivalents as on 1 April, 2023 ? 2

(})/ % 1,92,500

B) 92,500

¥
B,
sn[i iy

(C) T1,27,000 . 4 el
(D) T1,98,500
14. The Balance of Equity Share Capital'after thigtnal f’e"g”onstruction is
) ! | ‘mxm : 2
(A) %6,50,000 %
jB)” ¥4,50,000 ' N

(C) ¥5,50,000

(D) %7,50,000

0 RPJ1
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15. «fixed Asset held for sale” will be classified in the Balance Sheet as per
Schedule I1I of the Companies Act as :

(A) Deferred Tax Assets
(B) Current Asset
(C) Non-Current Asset

(D) Long term Investniéﬂts




